
Actief met rekenen en wiskunde

Domino

36 8 x 7 = 56 3 x 4 =

12 8 x 8 = 64 7 x 3 =

21 9 x 9 = 81 5 x 8 =

40 7 x 4 = 28 9 x 8 =

72 8 x 4 = 32 3 x 3 =
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33  Domino

9 8 x 6 = 48 7 x 5 =

35 9 x 2 = 18 9 x 6 =

54 4 x 5 = 20 7 x 7 =

49 10 x 5 = 50 3 x 9 = 

27 5 x 5 = 25  6 x 6 =
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33  Domino

2
1 0,25 1/4 0,20

1
5

0,10 1/10 0,333

1
3

0,6 6/10 0,375

8
3 0,15 3/20 0,9

10
9 0,4 2/5 0,01

100
1 0,125 1/8 0,75
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33  Domino

4
3 0,875 7/8 0,666

3
2 1 4/4 0,02

100
2 0.05 1/20 0,4 

5
4 0,111 1/9  0,5
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